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UNIVERSITY OF UTAH
ELECTRICAL ENGINEERING DEPARTMENT
EE 553 FINITE DIFFERENCE TIME DOMAIN (FDTD)
April-12..1996
HOMEWORK #3 Due: April %‘9, 1996
3
1. Do problem 3.7 in your text (answer given in text).
a. Write the matrix without using symmetry, and solve.
b. Rewrite the matrix using symmetry and solve again.
2. Repeat for the case below (with symmetry)
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3. Find the potential at the center.
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4. Find the potential at the center
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Hand in: All calculations used to compute matrices, including how you numbered the
nodes.

Hand in: Matrix equations to be solved (print out matrix A and vector b ).

Hand in:  Solution, and tell what method you used to solve Ax=b (i.e. Mathab,
Linpack, your gaussian elimination code).

Your grade:

Problem la_ 20
Problem 1b 20
Problem 2 20
Problem 3 20
Problem 4 20

Total 100

How long did you spend on this homework?

How much did you learn?
alot some alittle
How difficult was this assignment?

too hard _just right too easy
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100 _+ & + e + 500 4 bo - 4dy =0
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